
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

tre brøk, operasjonsrekkefølge

+ × =
5
3

5
1

3
1

− 10 ÷ 2 =
4
1

+ × =
2
3

4
1

3
2

+ × =
3
1

3
1

2
3

− 4 ÷ 1 =
3
1

− 27 ÷ 9 =
2
1

60 ÷ 6 − =
2
1

11 ÷ 11 − =
3
1

× + =
2
1

3
1

6
1

55 ÷ 11 − =
4
3

www.snowmath.com

https://www.snowmath.com


StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

tre brøk, operasjonsrekkefølge

+ × =
5
3

5
1

3
1

3
2

− 10 ÷ 2 = (− ) = (−4 )
4
1

4
19

4
3

+ × = = 1
2
3

4
1

3
2

3
5

3
2

+ × =
3
1

3
1

2
3

6
5

− 4 ÷ 1 = (− ) = (−3 )
3
1

3
11

3
2

− 27 ÷ 9 = (− ) = (−2 )
2
1

2
5

2
1

60 ÷ 6 − = = 9
2
1

2
19

2
1

11 ÷ 11 − =
3
1

3
2

× + =
2
1

3
1

6
1

3
1

55 ÷ 11 − = = 4
4
3

4
17

4
1

www.snowmath.com

https://www.snowmath.com

